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“y- Instructions : ' ‘ ' '
A 1) There are two sections in this question paper. Section-I is
for Physics and Section-II is for Mathematics.

2) In Section-I, there are 24 qu'estions and Section-II, there are
23 questions. There are in all total 47 questions.

3) Each section is of 50 marks with an internal option.

" 4) * Candidates can use calculator and Log tables.

SECTION - I
(PHYSICS)

(A)  Questions from 1 to 5 are of multiple choice type. Select
the most appropriate alternative and rewrite the answer. _
Each question carries ONE mark : [5]
1) The value of gravity accelerator g =
" (A) 9-8m/s’
(B) 9-8 m/s
(C) 980m/s”
2) How the motion of the surface of the mirror is removed
J ~ from the top of the mirror (minara).
(A) Linear
"(B) Curved line
(C) Agreed
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3)

4)

5)

o 1
(B) Smv

Substance’s potential enefgy =
(A) mgh

2
2

(C) Fxd
The filament form of an electrical bulb is of which metal?
(A) Nickel

(B) Tungsten

- {C) Chromium

‘Boyle’s law formula =

(A) PV =K | -
(B) V/P=K
(C) P=VK

(B)  Give answers of questions from 6 to 10 in. brief. Each

question carries 1 mark :

. 6)

7)

N

9)

What is the ideal gas?
Give the definition of Addendum.
Give the definition of boiling point.

What is Electro plating?

* 10) State the various types of iron.
5

(O) Givé answers in short of questions from 11 to 16. Each

question carries 2 marks :

11) Write the rule of force of gravity.
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12) ‘State the difference between : Work and Energy.
13) What s ani Alloy?

14) State the difference between : Ferrous Metals — Non Ferrous

_lnetals.
v 15) Give definition and unit of Angular velocity.
16) Write the value of coefficient J of Joule.”

- (D)  Solve questions from 17 to 20 according to instructions.

Each question carries 3 marks : [12]

17) The initial velocity of a substance is 4 m/s. It is moving in a
linear motion with the constant acceleration of 0-5 m/s.
Calculate the distance travelled by the substance at the end

of 10 seconds _
18) Find the work that took 155 kg of weight te 4-4 m high.

19) A stone is revolving with a constant speed' in a horizontal
plane performing circular motion and havmg radius of 5
- meter. If it takes 4 seconds to complete one revolution,

then calculate the speed of the stone.

'20) Obtain special equation for gettmg Gas : PV = mRT.

(E)  Give answers of questlons 21 to 24 in detall ‘Each questmn

_?5 _ -carries 4 marks. ' ) . - [16]

2

21) Derive an equation 2ad = V2—V0

.for alinear motion.
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' 22) Explain energy transmission by a Belt Drive.

. 23) Write and explain both the laws of Faraday..

- (A)

OR
Describe an experiment of Eiectrolytic division of water.
24) Give the characteristics and uses of Aluminium. |
o : oR ,

Give the characteristics and uses of copper.

SECTION - 1I

\

( MATHEMATICS )

Questions from 25 to 29 are of multiple choice type. Select’

the most appropriate alternative and rewrite the answer.

. Each question carries 1 mark :

25) 0-019 k‘iloIi;er = cubicmeter
@
(B) 1900
(C) 0019

26) log8+log§ =3
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(A) 0
@) 1
(C) 8
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27) (-)''xqa0y" =
(A) 10

_1‘ .
® - )

() —10

28) L=
(A) 2
B) 2
©) 2°

29) sin®45°+cos?45° = .
(A) 0 |
®) 1
©) 2

Give short answers of questions from 30 to 34. Each ‘question

.carries 1 mark : [5]

30) Represent 0-030 by a scientific method.

31) Make ¢ the agent of the formula in an equation of

'T=2n\/z_.
. g’

32) Write the formula of the curved surface area of a cone,

33) Write the formula of sin (ot +B).
_ , . 3n
34) Find: Sm—4—
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(©)

Solve the questions from 35 to 40. Each question carries

2 marks :

35)

36)

37)

-38)

D)

39)

40)

1t 18¥ x18%2=18%, thenx= .

Solve : x+y=12,x~yr4.
Find the base area of the cone with a diaxﬁeter of 14 m.

If the difference between the circumference and the radius

of a circle is 37 m, then calculate the area of the circle.
If log 2=0-3010, then log+2 =

If tanO =1, then cotB=

Calculate the questions from 41 to 47. Each question carries
4 marks : | |

41)

42)

| 43)

 254(E).

44)

Find out the height of cone, if volume and radius of a sphere

and a cone are equal, r =6 c.m.

1fthe radius of the base of acone is 15 c.m. émd its height i_s

20 c.m., then calculate the curved surface area of the cone.

Calculate the témperature at which °C will be equal to °F,

Finc{ out the value of

A=T7+3y37-3279
OR

36-08x0-3791
487-3%31.6 using log table.
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45) Provethat:

x3 x4 x3 i
| X7 7| T
x4 x2 x2

e 46) Solve: ,

23x+17y=137
17x+23y=143

OR
2x—-3y+5=5x+4y—-9=3x-2y

47) Prove that:

5in30=3sin®—4sin-0

1_( .
.OR
(§n6+cosefzzk+2ﬁn6cosﬁ
A A 4
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